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1. The formula to work out the total number of legs, [, in a ants, each with 6 legs is

[ = 6a
T

X

Work out the value of [ when a =7

F.Y.I. Using the 6’s row of the times table grid: | * 2031415167819

is much faster than drawing and counting. 6 | 1218243036 |42 |48 | 54
|
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2. The formula to work out the total number of muffins, m, in ¢ trays of 12 muffins is

m = 12t
T

X

Work out the value of m when t = &

F.Y.I. Using the 12’s row of the times table grid:

24 136 | 48 |60 | 72 | 84 | 96 108

is much faster than drawing and counting. 12
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20
valueAlgebra (2) SRS Learning Limited

GlOES(O)



teach-learn valueAlgebra (2) timelypractice.com

3. The formula to work out the total number of buns, b, in t trays of 9 buns is

b=9t
T

X

Work out the value of b when ¢t =7

F.Y.I. Using the 9’s row of the times table grid:

is much faster than drawing and counting. 9 | 18273645 |54 63| 72|81
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4. The formula to work out the total number of chairs, ¢, in r rows of 11 chairs is

c=11r
T

X

Work out the value of ¢ when r = 4

F.Y.I. Using the 11’s row of the times table grid: | * 203145167 )8]9

is much faster than drawing and counting. 11 (223344 |55]66 | 77| 88|99
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Answers

1. 42
2. 96
3. 63
4. 44

E@®O0 valueAlgebra (2) SRS Learning Limited



